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DO ALL THE ACTIVITIES OF THIS EXAMINATION PAPER ON YOUR ANSWER SHEETS

PART ONE : READING =0.%

Read the text below and do the tasks that follow.

Telecommunication is one of three key component:  eded to stimulate. narket economy, the
other two being energy and transportation. GTE Corporatiol 'TE), however, ¢/ siders telecommunication
to be the most important of the three. Is it possible to bring et wand trans  tation facilities into an area
without being able to make a phone call?

Telecommunication plays a vital role in building economic viability in emerging economies.

Before examining the role of GTE an.  “vate enterprise in deve. .ing countries, a snapshot view of the
corporation will be useful. GTE generate 20 billion in reveres, 54.2 billion in operating income, and has
542 billion in assets. It employs 130,000 pe. globally, «* vhich 24000 are international, and is basically
structured in two groups: the telephone opera. s gr o which generates a lion’s share of the revenues
and 90% of the net in~ while the second grov Unsists, of wireless, information services, including
GTE’s cellular busi® .ses, G.  1irfone, GTE spacenet (GTE has 8 satellites and, is a major satellite entity),
GTE Informatio” .ianagemen ystems (IMS), and GTE Government Systems. It was GTE’s

telecommun. ‘on systems’ at played a major part’in the Gulf war. GTE is the fourth largest publicly-held
telecommunicac.  -omr’ yin the world. Only NTT, AT, & T, and British telecom are larger. GTE has four

majorc nanies ou - the US: In British Columbia, Quebec, the Dominican Republic, and most recently, in
Venezuela.

Private entc ‘se hasa tical role to play in developing countries. The speed with which the concept of
Drivate investmen  embraced by government and community leaders will directly impact both the speed
2conomic growt ind the increase in the standard of living in that country. There are two keys to
es ‘ishing this ¢ ronment: the government’s ability to create an attractive investment climate; and the
abilit, '~ T3 high quality, globally responsive telecommunication infrastructure.

By Anthony J. Knight
AFRICA NOTES, December, 1993.

Tournez la page S.V.P.
1/4



COMPREHENSION CHEICK

A Choose the best meaning of the word according to the text and write it down. An example is
done foryou : 7-b

1. Key (LI) 7. wireless (L.10)
a. tool to open a door k. electronic mail (E-mail)
b. very important I.  mobile phone
o unecessary m. radio set
d. rivial n. answering machir.
2. components (L.I} 8. speed (L.17)

e a. eagerness
a. compaositions ) o
b. = constitutions : rap!tl Y t
c. constituents / elements Z exc ‘e‘{nen
d. contributions RN
3, facilities {L.3) 9. embraced(L. 17}
a. talents a. encouraged
b. abilities h. Dealt with
C. skills perceived
d. means “ated

h 10. attractive (L. 19)
% snapsuot [L6) 2. competitive
a. talents
ks bilities ¢ transparent
' ° f. real

¢ skills )
d means g. appealing
5, assets (L.8 11. responsive (L. 21)
a. liabilit’ a. sensible
b. pol  -ions/props y b. satisfactory
C obligac = c. sensitive
d. bts /be. T/ gains d. positive
6. lion are(L.9,
a. thefle. falion
b. the smal : part

the large part
the ski* ralion



B. say whether these statements are true or false according to the text. Write (t) for true and (f) for false and
give the line(s) to justify your choice

NV AWN
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o

Energy and transportatidn are the other two key components needed to stimulate a market
economy.

GTE is a group that has large revenues.

24,000 of the 30, people working for GTE are employed localy.

GTE is made up of two major groups.

The telephone operation group generates more money than the other groups
GTE has eight satellites and four major companies outside the USA.

GTE is the largest publicly-held telecommunication company in the world.
Private entreprises have a very important role to play in emerging countries.
GTE’s telecommunication systems played a very important role in the gulf war.

. The speed of economic growth and the increase in the standard of living in country . not

influenced by the speed with the concept of private investme=*ic embraced

PART TWO: LANGUAGE IN USE 30%

A. Allthe words in each group except two are related to

the two words that do not
Jon your answer sheet like this

same class. Fi
belong to the name of the class, and write down the nan. ba

:E.

2-radio

5-announcer

Class : newspaper
A. B. G
1. Announce’ _nt 1. Bathe 1. Nought
2. Boardi: 2. Desert 2. Nil
3. Dept e 3. Sand 3. 0h
4. Diary 4. Bathroom 4, Tent
5. stomso 5.5un 5. twelve
6.Pc art 6. Wave 6. Thirst
7. Static 7. Umbrella 7.ten
D. E. F.
1. Software 1. Headline 1. election
2. Data 2. Radio 2. trial

Stencil 3. Article 3. ballot

4., _: 4. Column 4. candidate
5. Disc 5. Announcer 5. murder
6. Eraser 6. Newsagent 6. party
7. Screen 7. Journalist 7. democracy

- 3/4



B. Choose the most suitable word from the box below to fill the numbered spaces. Write your answer
like this: 11-for.

By-either-even-for-how-if-most-rather-than-which-for.

Technology

When faced with some new and possibly bewildering technological change, =»ast people react in
one of two ways. They (1) recoil from anything new, claiming that it is unnecessary, 0. o . licated, or
that it somehow makes life’s less (2) human. Or they learn to adapt to the new inventic and eve.
wonder (3) they could possibly have existed without it. Take computers as an example,t many us,ti.
{4) represent a threat to our freedom, and give us a frightening sense of a future in (5)ali ¢ .nswill be
taken(6) machines. This may be because they seem mysterious, and difficult to understand .k (7) people
what you can use a home computer (8), and you usually get vague answars about how "they e you
information” . In fact, {9) those of us who are familiar with com:" _s, and us them in our dail sork, have
very little idea of how they work. But it does not take long to’ arn how to operate a bus’ ~ss programme,

even (10) things occasionally go wrong (11) no apparent re;  n. Presumably mu~'“the saine happened
when the telephone and the television became widespread

Adapted from Advanced language practic.

By Michael VINCE; Macmillan and Heinemann, P.224

PART THREE WRITING 40%

Kisito, your south-Afri- = friend, wants to knc telecommunication is developed in your country.
Writeehim a reply»© Creyou. swer his question, giving examples.

4
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